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1. The Abraham Group will with ATT Software to expand ATT's market into
new geographic regions.

(A)partner (B)downsize (C)distribute (D)enclose

2. The plight of the economy is forcing businesses to_ .

(A)enlarge (B)downsize (C)distribute (D)expand

3.Dr. Su's suggestion that we should go to human resources with our
complaint is good, it?

(A)will (B) aren't (C) isn't (D) won't

4, After working here for three years, employees are for a three—week paid
vacation.

(A)beneficial (B)challenging (C)dedicated

(D)eligible

5. An Australian company reduced the product

~_rate by six percent, by adding additional quality control before
packaging.

(A)defect (B)priority (C)patent (D)gadget
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